$$\begin{array}{c} \underline{\operatorname{Recall}}: \quad \operatorname{Mean} \quad \operatorname{Value} \quad \operatorname{Theorem} \quad \operatorname{frr} \quad f(x). \\ \quad \operatorname{Let} \quad f,g: [a,b] \rightarrow \mathbb{R} \quad \operatorname{continuous}, \quad \operatorname{and} \quad \operatorname{differentiable} \quad \operatorname{over} \quad (a,b). \\ \hline \operatorname{There} \quad \operatorname{There} \quad \operatorname{exists} \quad a \quad \operatorname{prist} \quad C \in (a,b), \quad \operatorname{such}. \\ \hline \operatorname{Germitian}^{(n)} \quad [f(b) - f(a)] \cdot g'(c) = [g(b) - g(a)] \cdot f(c). \\ \hline \operatorname{Germitian}^{(n)} \quad f(b) - f(a) = (b-a) \cdot f'(c). \\ g(b) = x, g(b) = y, g(b) = y, g(b) = x, g(b) = y, g(b) = y, g(b) = y, g(b) = x, g(b) = y, g(b) = x, g(b) = y, g(b) = y, g(b) = x, g(b) = y, g(b) =$$

then 
$$\lim_{y \ge a} \frac{f(x)}{g(x)} = \frac{h(x)}{R(a)}$$
  
(Non. example):  
 $\lim_{x \to 0} \frac{\log x}{x} \neq \lim_{x \to 0} \frac{(\log x)}{(x)'} = \lim_{x \to 0} \frac{1}{x} = + ba$   
 $x \to 0$   
 $x \to$ 

a a+s.  $C-\varepsilon. < \frac{f'(x)}{g'(x)} < C+\varepsilon$ a b · ∀ a < d < B < a+S, we can apply the generalized put,  $\exists \mathcal{F} \in (\alpha, \beta), \quad s.t.$  $[f(\beta) - f(\alpha)] g'(\gamma) = [g(\beta) - g(\alpha)] \cdot f'(\gamma).$  $\frac{f(\beta) - f(\alpha)}{g(\beta) - g(\alpha)} = \frac{f'(\gamma)}{g'(\sigma)}.$ ⇒. whenever.  $g(\beta) - g(\alpha) \neq 0.$  $\forall x, \beta \in (a, a+s)$  $\Rightarrow (\cancel{X}) \quad (-\varepsilon. < \frac{f(\beta) - f(\alpha)}{g(\beta) - g(\alpha)} < C + \varepsilon$ and  $g(\beta) \neq g(d)$ .  $\lim_{x \to a} f(x) = 0, \qquad \lim_{x \to 0} f(x) = 0$ (ase (i): Take (+), and  $(\pm)$   $d \rightarrow a$ . Since  $g(\beta)$  is fixed, and  $g(\alpha) \rightarrow 0$ , thence  $g(\beta) \neq g(\alpha)$  for d close enough to a.  $\frac{f(\beta) - f(\alpha)}{g(\beta) - g(\alpha)} = \frac{f(\beta)}{g(\beta)} \in [C - \varepsilon, C + \varepsilon]$ **⇒** Now, we have proved for any E>O, 3570, sit.  $\forall \beta \in (\alpha, \alpha + \delta), \qquad \frac{f(\beta)}{f(\beta)} \in [C - \varepsilon, C + \varepsilon],$ thus  $\lim_{\beta \to a} \frac{f(\beta)}{g(\beta)} = C.$ 

$$\begin{array}{c} \text{Case (ii):} & \lim_{x \to a} g(x) = +\infty \\ f(a) - f(p) = \frac{f(a)}{3(a)} - \frac{f(p)}{3(a)} \\ g(a) - g(p) = 1 - \frac{g(p)}{3(a)} \\ \hline g(a) - g(p) = 1 - \frac{g(p)}{3(a)} \\ \hline g(a) - g(p) = 1 - \frac{g(p)}{3(a)} \\ \hline g(a) - g(p) = \frac{f(a)}{3(a)} \\ \hline g(a) - g(p) = \frac{f(a)}{3(a)} \\ \hline g(a) - g(p) \\ \hline g(a) - g(a) \\ \hline g(a) -$$

$$\lim_{X \to 0} \chi \cdot \log_{X} = \lim_{X \to 0} \frac{\chi}{\frac{1}{\log_{X}}} = -\lim_{X \to 0} \frac{\chi}{\frac{1}{\log_{X}}} = -\lim_{X \to 0} \frac{\chi^{1}}{\frac{1}{(\log_{X})^{2}}}$$

$$= -\lim_{X \to 0} \frac{1}{\frac{1}{(\log_{X})^{2} \cdot \frac{1}{X}}} = -\lim_{X \to 0} \chi \cdot (\log_{X})^{2}$$

$$\left(\frac{-1}{\log_{X}}\right)^{2} = \frac{1}{(\log_{X})^{2} \cdot \frac{1}{X}}$$

$$= \lim_{X \to 0} \frac{\log_{X}}{\frac{1}{X}} = \lim_{X \to 0} \frac{(\log_{X})^{2}}{(\frac{1}{X})^{2}} = \lim_{X \to 0} \frac{1}{\frac{1}{X^{2}}} = \lim_{X \to 0} (-X)$$

$$= 0.$$

$$\lim_{X \to 0} \frac{1}{X} = \lim_{X \to 0} \left[e^{-\log_{X}(1+\frac{1}{X})}\right]^{X} = \lim_{X \to 0} \frac{1}{\frac{1}{X^{2}}} = \lim_{X \to 0} (-X)$$

$$= 0.$$

$$\lim_{X \to 0} \frac{1}{\chi} = \lim_{X \to 0} \left[e^{-\log_{X}(1+\frac{1}{X})}\right]^{X} = \lim_{X \to 0} \frac{1}{\frac{1}{X^{2}}} = e^{1} = e.$$

$$\lim_{X \to 0} \frac{1}{\chi \to 0} = \lim_{X \to 0} \frac{\log_{X}(1+\frac{1}{X})}{\frac{1}{X}} = \lim_{X \to 0} \frac{1}{\frac{1}{X}}$$

$$= \lim_{X \to 0} \frac{1}{\chi^{2}} \left(\frac{1}{1+\frac{1}{X}}\right) = \lim_{X \to 0} \frac{1}{\frac{1}{X}} = \frac{1}{\chi} \cdot \left(\log_{X}(1+\frac{1}{X})\right)^{2}$$

$$= \lim_{X \to 0} \frac{1}{\chi^{2}} \cdot \left(\frac{1}{1+\frac{1}{X}}\right) = \lim_{X \to 0} \frac{1}{\chi} \cdot \left(\log_{X}(1+\frac{1}{X})\right)^{2}$$

$$= \lim_{X \to 0} \frac{1}{\chi^{2}} \cdot \left(\frac{1}{1+\frac{1}{X}}\right) = \lim_{X \to 0} \frac{1}{\chi^{2}} \cdot \left(\frac{1}{1+\frac{1}{X}}\right)$$